TEEBEEREITRICEDCXEOBERRICET 5FROARK
( BREREHRLR )

OFRALEBEICHEOLIXMBENES (TM0F4A2H~F/MIIFE4A1BERA)

X5 g (N) = (N) it (N) ZHEDEE (%)
£z 4 6 10 60.0
AER
— BT 3 2 5 40.0
R GEEm 0 1 1 100.0
REL 0 3 3 100.0
=% (£K) 1 0 1 0.0
ORRARABOZTREOHRYMIZEDIXEDEE
(ERBOEEERmIXARER 1 RZBRE)
X5 5 (N) %z (N) it (N) ZHEDEE (%)
215 46 36 82 43.9
AER
— B 45 23 68 33.8
R GEER 0 2 2 100.0
BREL 0 11 11 100.0
=% (£K) 1 0 1 0.0
OBEICHOLIXMBEDEIE (FR31FE4A1HIRE)
BEEE
X5 5 (N) % (N) it (N) ZHEDEIE (%)
£ 103 99 202 49.0
AER
— B 101 72 173 41.6
?ﬁa.%kﬁgﬁ_ﬂﬁk %égﬁ“%iééf’ 2 17 19 89.5
R’EL 0 10 10 100.0
FEEHBE
X 7 5 (N) & (N) it (N) ZHEDEIE (%)
EZ 47 129 176 73.3
A3
— A= 54BN 7 24 31 77.4
HERAEE 0 19 19 100.0
B’EL 0 27 27 100.0
F Dt 40 59 99 59.6

OBLXHNNERAERFE (FRIVFERICHLICREAREL > EBEA)

X5 A DLHERARERMEER BEE (%)
% 2 0 0.0
gk 3 3 100.0
E7 5 3 60. 0

KIRT—REH




OSMBADEMBE HEKRKRFRGE (FRIEE)

X5 AR FoiBE HERIRIRGE R REE (%)

Bt 2 1 50.0

KRN T—REH

OEHMMMICHAIBAEICHDIXMBEDNEE (FH31F4 A1 8EA)

X5 BE (N |>b%H (N) | ZMEHE (%)
BT R &R R 16 5 31.3
AR BREHBR 0 0.0
BEHEZER 3 0 0.0
&t 20 5 25.0

OFRBEREICHIBEICHDIXMEBAEDESG (FR31E4 A 1HEH)

X5 BE (N |5b&H (N) | ZHEEE (%)

ETRERE 16 5 31.3

BEEER 1 0 0.0

FERBESEED) | 4BEFES 3 0 0.0

BEZEEHER 0 0 0.0

EEXZE2EHR 0 0 0.0

B 20 5 25.0

BT RERE 12 2 16.7

BEEER 0 0 0.0

RERMIER HEZER 1 0 0.0

BEBEZEEHER 1 0 0.0

BEZELEHR 0 0 0.0

H 14 2 14.3

ETREE 36 16 44 4

BREBEER 1 100.0

FRER(EEED) | 4EZES 7 2 28.6

BEBEZEEHER 0 0 0.0

FESS-PE205 0 0 0.0

it 44 19 43.2

&5t 78 26 33.3

O ZERADBLAIEE (FR30FEE)

X5 g (N) zZ (N) i (AN ZHEDEE (%)

21k 0 4 4 100.0

A3
—IREFE 0 2 2 100.0
REL 0 2 2 100.0




